E7Z-75 VR
mYALIL=Y M UCNBK H#iE

C OUTLINE OF UCNBK )

TelIHES

OZXZ A HRIFR Yy 7 IEED 1= H SEINMS Il UCNBK D#8i& & 5% - #83r
oV A1 N,
o<y MNENE 65,100, 200mm 51 > F v 7,

o ~_ o o BTN 7 . " UCNBKGS@
OAEIF 0°~70°% 5°RUTIM>F v, UCNBK100-G9
UCNBK200:(3)

UCNBK®65,200:®

UCNBK100:)

B UCNBK OF 7> a3

® ¥ —{1ik (-K)
UCNBK®65 UCNBK100/200
LKU25-100 (2 8 M8 RJL hMt) LKU32-50 (318 M8 KL ht)
100 14 3 R s
£l
.50 0 3 oF 52 = ©
b 3 1) Y S
o Emoe T QIS E
. 3 2’\?&/ 14
® UCNBK DA A%
1) RARFERILL (@) 2FEHT L —b (UCNBK65:02 UCNBK100:G9 UCNBK200:03) R/ v &
B2 (@) 254 LET,
e Xy 7% —{Lik (-KA
UCNB/K1001200 < 2) RARMERILNO)EEDTAMy/STL— b (UCNBK65,200:8 UCNBK100:D) %4+ L £ ¢,
LKE25-32-50 (3{& M8 HJL M) 3) DLZRFAZ (D) EHLKILE (D) hSHEHICEEIREET,

50
25

O UCNBK D#L Ai%
1) ML EPBEFDFIETIToTLEEL,
BEHIICEMPMIBELTCVWEWEEEZRELC JUIXEZH UMBAIL TTLEEL,
CHLRAZAZEHLRNGERTIT I ZERBELTVWETOT, HWHShTWEYUTILF>  yeNBK
N— &R THRAI T TS, 65
c DR - HEILTR. RV ROROENREN BWL D TEBELC LS,

737 738

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



799

?UﬂAJ:vb

AERIAL CAM UNIT )

/
UCNBK200-00

225+0.05
20 200 4-$18-426
b 32H7 2-$16H7
6
=] t AR
O\ Ol LY
- ‘ g
E 3 ©)
40 100 1
Y O g
28 i 18Ceda8s
O | 2512 "
0| e
60-0.05 6.3
17 240

&
6 \y

QB I
o S| B i . 216
o 200(W)
. 5
G s 3 |
9 ! 283 |© ‘
g i
o E A ITravel g
Y b% - M
N 8w i
o——1N / 8 —3
(=]
(]
ot T AT
31 8| oL | 8!
63 80 160 '@
20_ 70
4:418:926 lerl o0 2-#16H7 ECam Diagram
6.3,

W

28.3

260
230+0.02

28.3

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

MIF kN(tonf) |ZTUYHFIN(kef)| - — =
O— 5 = =
ANSTY BN HENTS g | mm | ke | CatalogNo.| W | g
(10055 | (3075[E) -
93.1 186.2 626.6 5639.4
28.3 9.5) (19.0) 639) | (575.1) 26.0 UCNBK 200 00
Q Order [catalog No.|[ W |- & |
UCNBK 200 — 00
NP F7vav [ % —(HHFE I P.737
l'] Optin 3~ Gl B e
K FIVERF-—PHELET,
cn | BBELTE R0y SsOER
X pHELET,

(“ order  UCNBK200 - 00 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

Wl Table of Components

BX7Y) 78R (> FRY B5mmEEDTHE)

No.| Description |Qty/Material and Remark oEBEATULY  TM30-175 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 31.33N/mm (3.19kgf/mm)
@|cam Driver 1 |FC250 *ATVLIMAE#ELR  507E
(3 |Cam Holder 1 |FC250 U —
: : al INFEmMmERY) R

@ |Upper Plate 2 |S45C with Graphite g 5639.4 6 I FEMMEVEEX TS TR R
(5 |Positive Return Follower| 2 |S45C(1045) = (575.1)
(® |Stopper Plate 1 |S45C(1045)

- —— o« 47496
(@ |Spring Guide Pin 4 |SCM435 (483.6)
Coil Spring 4 [TM30x 175 6266
(9 |Stopper 4 |Urethane (63.9) L]
Cam Bottom Slide Plate| 1 |S45C(1045) gEEEE 130] | e=7.1 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERE E 170 | ERf-bH 5
(2 |Lower Plate 2 |Bronze with Graphite BHE 175
@3 |Plate 2 [845C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
IN@BITRDKIVL, Sy TES, TyivlisRR

LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
Z
k

UCNBK
200

800



801

mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT ) E

/
UCNBK200-05

225:+0.05
200

6.3,

4-$18-926
2-$16H7

210
190
180+0.02
230
260

6.3

0
n
o
N
[aV)
o
[ee]
N
6.3
©|
i aql N
\ 2-$16H7
4-$18-926
o %

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUSF N(kgf)| - — -
ANSTY BN HENTS g | mm | ke | CatalogNo.| W | g
(10055E)) | (30751E)) "=
93.1 186.2 626.6 5639.4
28.3 oa | e | e | e | a0a UCNBK | 200 | 05
MQ Order [catalog No.|[ W |—[ 6 |
UCNBK 200 — 05
s\l . #ATVay [ % — I P.737
VR il £ ZBCEED,

K FIVERF-—PHELET,

ALFRIVFIZX MYy THAEOER

KA % pHELET.

(“ order  UCNBK200 - 05 - K

VFr—FBAEZy TR /vy IR (TR
EEWR) MNTFFMAIRIE P38 ~2 28
{F2ELN,

ETable of Components BX7YV7#HE (5> FRY B5mmEEOHEE)

No.| Description |Qty/Material and Remark ofEBEATULY  TM30-175 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 31.33N/mm (3.19kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAE#EL  507E
(3 |Cam Holder 1 |[FC250 o _
@ |Upper Plate 2 [S45C with Graphite g 56394 L e g
(5 |Positive Return Follower| 2 |S45C(1045) E(E75.9)
(® |Stopper Plate 1 [S45C(1045) 47496
@ |Spring Guide Pin | 4 |SCM435 * 483.6)
Coil Spring 4 |TM30x 175 6266
(9 |Stopper 4 |Urethane (63.9) L]
Cam Bottom Siide Plate| 1 |S45C(1045) wEhEs 130] | e=7.1 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERE E 170 | ERf-bH 5
(2 |Lower Plate 2 |Bronze with Graphite BHE 175
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INBAITRDFIL, Sy oS TyovBER
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

802



803

mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT )

/
UCNBK200-10 225+0.05
20, 200 ) 4-$18-9$26
J 32H7 2-$16H7
®
?;’Q"
[ L
] . 24
E 40 100 1
Q| :
| S
28 O rscegag
|: | o5 T
Ol
60+0.05 53
17 240

8 s
: &
o
[ee]
[aV}
6.3 60 % 180 ~®
o‘b
20 70
4-#18-426 J>55) 0.5 2-$16H7
6.3
N
: 4
S
(=] +
©| o -
SR
33.3

28.7

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

BT kN(tonf) |ZTFUYFH N(kef)| _ — -
AP~ e T ASAYER | catatogNo.| W | ¢
(1005E)| (30pE) PE | KE :
93.1 186.2 626.6 5639.4
33s | BN | 5D | G208 | e | o UCNBK | 200 | 10

¥,

Qol_der ‘Catalog No.H w ‘—‘ [} ‘

UCNBK 200 — 10

¥ —{HHEEM I P.737

N A FTTvay
k"°°“°" 2=k Gl ETBCEE L,

K FIVERF-—PHELET,

ALFRIVFIZX MYy THAEOER

KA % pHELET.

(“ order  UCNBK200-10 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

W Table of Components WA7VTHRE (U FRYB5mmEEDHE)

No.| Description |Qty/Material and Remark ofEBEATULY  TM30-175 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 31.33N/mm (3.19kgf/mm)
@|cam Driver 1 |FC250 *ATVLIMAE#EL  507E
(3 |Cam Holder 1 |[FC250 . -
@ |Upper Plate 2 |S45C with Graphite o NCFESMMEVEEE
(5 | Positive Return Follower| 2 |S45C(1045) RE (5567359143 o /TS MMRIBATY TR
(® |Stopper Plate 1 [S45C(1045) 18875
(@ |Spring Guide Pin 4 |SCM435 % 497.6)
Coil Spring 4 |TM30x 175 46266
(9 | Stopper 4 |Urethane (63.9) | |
Cam Bottom Slide Plate| 1 |S45C(1045) BERES 130] | e=6.0 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite MERE E 170 | Ef-bH 5
(2 |Lower Plate 2 |Bronze with Graphite BHEE 175
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
IN@BITRDKIVL, Sy TES, TyivlisRR
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

804



(ﬁ'-")z'l

La1=vyp E7PR-75VCR

805

60-+0.05

6.3

6.3
CEl
S
1
(o]
=2
o 33.9
b %
o
=2
©
©
S
63 @/
M Cam Diagram
20 70
()
©L-|55+0.05 Y
6.3,
/ 33_9
8
3
+
o ©
™| ©
[SUBN V)
\ 2-#16H7
4-$18-$26

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

F-PRELET,

Q Ord

er  UCNBK200 - 15 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

Wl Table of Components

BX7Y) 78R (> FRY B5SmmEEDTHE)

175 (418)

31.33N/mm (3.19kgf/mm)

504 E

at INFEmmERY)RE T E
e INFEmMmREVERTITRVE

#EhEs 130 | e-5.9 ‘
MEBE S 170

MNErhé 5

BHE 175

No. Description |Qty|Material and Remark BRAXTYULY  TM30-
() |Cam Slider 1 |FC250 with Graphite o [ $hEH
@ |Cam Driver 1 [Fca250 ¢ ATV IHAEHEL
(3 |Cam Holder 1 |FC250
@ |Upper Plate 2 |845C with Graphite g 5639.4
(®) |Positive Return Follower| 2 |S45C(1045) E(575.1)
(® |Stopper Plate 1 [S45C(1045) 4900.0
@ |Spring Guide Pin | 4 |SCM435 * 498.9)
Coil Spring 4 |TM30x 175 o 626.6
(9 |Stopper 4 |Urethane (63.9)
Cam Bottom Slide Plate| 1 |S45C(1045)
(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite
(2 |Lower Plate 2 |Bronze with Graphite
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INBAITRDFIL, Sy oS TyovBER
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

A
AERIAL CAM UNIT ) E 2
3
( h BT kN(tonf) | ZTUV5 I N(kef)| _ — = )
UCNBK200-15 ANSTY BN HENTS g | mm | ke | CatalogNo.| W | g
(10075[5]) | (3073[E]) =
@) 225+0.05
© 4-418-926 93.1 186.2 626.6 5639.4
i 20‘ 200 ‘ 261617 33.9 9.5) (19.0) ©639) | (575.1) 30.6 UCNBK 200 15
A\ *Q} o w{:’ MQ Order [Catalog No.|[ W |-| 6 |
- UCNBK 200 — 15
O] | B Fvav 55 — (SR P.757
0| g [" Option 5= ¢ Gl EZRCEEW,
o o 1 ! H| ©
28 34—+ Colg8
I: % - K FIVERFX—PHBLET,
| L cn | BBELTE R0y SsOER

UCNBK
200

806



807

mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT ) @
/UCNBK200—20 )
225:+0.05 BCam Diagram
20 200 4-$18-926
3 s2H7 2-$16H7
©\ i §
S < 3
[ i u:g 7§

&
©

| 40 100

180=+0.02
230
260

2

210
150

M I_lll_l M
140

o

(
A
o—
:
Al
(]

60-0.05 6.3
18] 240

110

o
©
a
R
™ g =
®
gl
™
6.3
e
20 70
)]
4-$18-$26 6."|55.+0.05 2-$16H7
6.3,
8
=
8 + |
&l 8
o

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

MIF kN(tonf) |ZTUYHFIN(kef)| - — =
O— 5 = =
ANSTY BN HENTS g | mm | ke | CatalogNo.| W | g
(10055 | (3075[E) -
93.1 186.2 438.6 5117.0
30.9 9.5) (19.0) @47) | (5218) 25.9 UCNBK 200 20
Q Order [catalog No.|[ W |- & |
UCNBK 200 — 20
NP F7vav [ % —(HHFE I P.737
l'] Optin 3~ Gl B e
K FIVERF-—PHELET,
cn | BBELTE R0y SsOER

F-PRELET,

(“ order  UCNBK200 - 20 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

Wl Table of Components

W7V 748 (3> FREY B5mmEDEE)

No.| Description |Qty/Material and Remark oEBEZTULY  TM30-150 (41F)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 36.55N/mm (3.73kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAE#ELR  10075E
(3 |Cam Holder 1 |[FC250 o
O) Uppgr Plate 2 |S45C with Graphite ez 5117.0 g ;:jigmmg:jgz{;%)/]@)%
(5 |Positive Return Follower| 2 |S45C(1045) " (521.8)
(® |Stopper Plate 1 [S45C(1045) 4356.8
(@ |Spring Guide Pin 4 |SCM435 & (444.6)
Coil Spring 4 |TM30x 150 I 438.6
(9 | Stopper 4 |Urethane (44.7) | |
Cam Bottom Slide Plate| 1 |S45C(1045) BEBES 115] | _e=5.2 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFR & 147 | H-hH 3
(2 |Lower Plate 2 |Bronze with Graphite BHEE 150
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INEHITRDFIL, JyTEL TydvidFRR
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
Z
k

UCNBK
200

808



809

mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT ) @
/
UCNBK200-25
3 2254005 4-$18-926
20 200
® 2-416H7
A~ Wt
P Ee
: | 74
ol o E 3 % o
= — (et 8
E 25|

110

165

Q|
@ 32
q 7‘,3'/6/
o
< =
©
\@ B Cam Diagram
20 70 12
@1 55+0.05 i
@ 6.3, ~ o
s - / ey N
RS I 44 ‘SK/ &
\_ J

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUSF N(kgf)| - — -
AT I BB g | s | | CatalogNo.| W | o
(10055E)) | (30751E)) =
93.1 186.2 438.6 5117.0
320 o5 Goo | win | Gore | 289 UCNBK | 200 | 25
Qoﬂier [catalog No.|[ W |—[ 6 |
UCNBK 200 — 25
s\l . #ATVay [ % — I P.737
VR il £ ZBCEED,
K | #SVdRx—rRELET.

KA

F-PRELET,

ALFRIVFIZX MYy THAEOER

(“ order  UCNBK200 - 25 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

Wl Table of Components

BX7Y) 78R (> FRY B5mmEEDTHE)

No. Description |Qty|Material and Remark ofBAXTYULY  TM30-150 (44)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 36.55N/mm (3.73kgf/mm)
@ |Cam Driver 1 [Fca250 *ATVZTWAEREE 1005 E
(3 |Cam Holder 1 |[FC250 o _
@ |Upper Plate 2 |S45C with Graphite g 5117.0 e fiﬁ?ﬂ%@im;u%
(®) |Positive Return Follower| 2 |S45C(1045) "(521.8)
(® |Stopper Plate 1 [S45C(1045) 4386.0
@ |Spring Guide Pin | 4 [SCM435 * @a7e)
Coil Spring 4 |[TM30x 150 iE_438.6
| Stopper 4 |Urethane (44.7) [
Cam Bottom Slide Plate| 1 |S45C(1045) f@i@_ﬂ ‘
(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite MERR S 147 | #Hir=ba 3
(2 |Lower Plate 2 |Bronze with Graphite BHE 150
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INEBSITRDFIVL, Sy TES Ty vdRR
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
Z
k

UCNBK
200

810



811

mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT )

/
UCNBK200-30

\

225+0.05
20 200

W Cam Diagram

30
A
<)
(%)

4-$18-926
32H7 2-$16H7

1
<
I\

GQS 1

I S

210
150
[ o A e
+
I
7
T
517
9}
180+0.02
230
260

125

280

125.4

4-918-26 Plseoos | 2-#16H7
6.3,

260
230+0.02

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUSF N(kgf)| - — -
A '\E 7 ﬁ:ﬁﬂ){lﬁ% %(?ﬁ%]éj)] TE zjigrég Catalog No. | W 6
00 30
93.1 186.2 350.9 5614.1
335 ©.5) (190) | (@58 | (572.5) 295 UCNBK | 200 | 30

¥,

Q Order

‘Catalog No.H w ‘—‘

200 —

UCNBK
§'é A Tv3
qutlon a—R

K

KA

v

T &

(& & — 4513 P.737
EZELEEN,

FIVERF-—PHELET,

F-PRELET,

ALFRIVFIZX MYy THAEOER

(“ order  UCNBK200 - 30 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

Wl Table of Components

WX7) 78R (o FRYEB5mmiEDTHE)

No.| Description |Qty/Material and Remark ofBERTULY  TM30-125 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAEHEL  10075E
(3 |Cam Holder 1 |[FC250 U
@ |Upper Plate 2 [S45C with Graphite ai /NFEMMEVBEE
® |Positive Retum Follower| 2 | S45C(1045) HEE 55671;51) & /T SMMERIEAT TR
(® |Stopper Plate 1 [S45C(1045) 148246
(@ |Spring Guide Pin 4 |SCM435 * 491.7)
Coil Spring 4 |TM30x 125 D 350.9
(9 | Stopper 4 |Urethane (35.8) 1
Cam Bottom Slide Plate| 1 |S45C(1045) BEBES 03| | _e=4.5 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite WERFR E 123 | Db H 2
(2 |Lower Plate 2 |Bronze with Graphite BHBE 125
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INEHITRDFIL, JyTEL TydvidFRR
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

812



813

mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT )

/
UCNBK200-35

}|> 225+0.05
©|

20 200

4-$18-926

2-$16H7

210
150

125

o
o]
N
0
(o]
)
6.3
\Dzo 70 B Cam Diagram
)
5L~ 55/+0.05 0
|
o
G’@e \g))

_ I kN(tonf) | ZTUSF N(kgf)| - — -
AT I BB g | s | | CatalogNo.| W | o
(10055E)) | (30751E)) =
93.1 186.2 350.9 5614.1
35.3 o5 Goo | Boe | sy | 09 UCNBK | 200 | 35
MQ Order [catalog No.|[ W |—[ 6 |
UCNBK 200 — 35
s\l . #ATVay [ % — I P.737
VR il £ ZBCEED,

K FIVERF-—PHELET,

ALFRIVFIZX MYy THAEOER

KA % pHELET.

(“ order  UCNBK200 - 35 - K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

W Table of Components WA7VTHRE (U FRYB5mmEEDHE)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

No.| Description |Qty/Material and Remark ofEEATULY  TM30-125 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAE#ELR 10075
(3 |Cam Holder 1 |[FC250 o _
@ |Upper Plate 2 [S45C with Graphite g 5614, L e g
(5 |Positive Return Follower| 2 |S45C(1045) (572.5)
(® |Stopper Plate 1 |S45C(1045)

; . o 48772
(@ |Spring Guide Pin 4 |SCM435 (497.1)
Coil Spring 4 |TM30x 125 3809
(9 |Stopper 4 |Urethane (35.8) L]
Cam Bottom Slide Plate| 1 |S45C(1045) wEEs 03] | e-42 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFRE E 123 | r-bH 2
(2 |Lower Plate 2 |Bronze with Graphite BHE 125
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
NI TRDKIVL, Sy 7ES, TyivdRR

LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

814



815

ﬁil)j:ll.\:l._vh E7AR 75V

AERIAL CAM UNIT ) E

~ N
UCNBK200-40 S
20 200 4-$18-$26 B Cam Diagram
2-416H7
30 .
% S
Q0 ; N o
) N

210
150
MM ‘ [ |
T
\

[

75
51t
]

180+0.02
230
260

60=0.05 6.3
17 240

280

20

- 1 ) I
4-918:926 Pocl, o 2-416H7
63 |

Oy
TN

260
230+0.02

110

]

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUSF N(kgf)| - — -
AT I BB g | s | | CatalogNo.| W | o
(10055E)) | (30751E)) =
93.1 186.2 350.9 5614.1
39.0 ©5) 100) | (@58 | Gv25) 30.2 UCNBK | 200 | 40
MQ Order [catalog No.|[ W |—[ 6 |
UCNBK 200 — 40
N P 793 ] .ﬂe — I P.737
k" Option —R T ZEBELEEN,

K FIVERF-—PHELET,

ADLKRIVEIZA M)y TRERDER
F-PAELET,

Order  UCNBK200 - 40 - K

V7 —FBRE2y TR /v TR (FR.
£ EHF) MIFMAEHRIE P38 ~%22 8
{F2ELN,

Wl Table of Components

KA

WX7) 78R (N FRYEB5mmiEDTHE)

No.| Description |Qty/Material and Remark ofBERTULY  TM30-125 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@|cam Driver 1 |FC250 *ATVLIMAEHEZ  10075E
(3 |Cam Holder 1 |FC250 ] o
@ |Upper Plate 2 |S45C with Graphite o 56141 g ;::;gmmézjsz;ﬂ%)/%@)i
(5 | Positive Return Follower| 2 |S45C(1045) (572.5)
(® |Stopper Plate 1 [S45C(1045) 4947 4
(@ |Spring Guide Pin 4 |SCM435 * (504.2)
Coil Spring 4 |TM30x 125 s 3609
(9 | Stopper 4 |Urethane (35.8) |1
Cam Bottom Slide Plate| 1 |S45C(1045) BEBES 03| | _e-3.8 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite MERER E 123 | NibH 2
(2 |Lower Plate 2 |Bronze with Graphite BHEE 125
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
IN@BITRDKIVL, Sy TES, TyivlisRR
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

816



mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT D E Z
=
(| h B0IA kN(tonf) | ZFU 57 Nikgf) 9
UCNBK200-45 _hl A N o= omm
- AT RNTA [ BENTH | e | e | | CatalogNo.| W | g
P o 2’0'05 4-$18-926 (1005 E]) | (30/5E]) L
00
2-$16H7 93.1 186.2 350.9 5614.1
R ST Fo 422 9.5) (19.0) | (35.8) | (572.5) 31.9 UCNBK | 200 | 45
=1 ! - Order [catalog No.|[ W |- & |
K0 UCNBK 200 — 45
s\l . #ATVay [ % — I P.737
L'j Oetion | I=F 9 ETZBLEL,

K FIVERF-—PHELET,

KA ADLKRIVEIZA M)y TRERDER
F-PAELET,

Qe /o UCNBK200-45-K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

BX7Y) 78R (> FRY B5SmmEEDTHE)

817

2-¢16H7

4-$18-426

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Wl Table of Components
No.| Description |Qty/Material and Remark ofEEATULY  TM30-125 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@ |Cam Driver 1 |FC250 X7 UTHABBER 10075 E
(3 |Cam Holder 1 |FC250 U —
: : at INFEmmER) IR

@ |Upper Plate 2 |S45C with Graphite gx 56141 e I FEMMENIEX TR E
(5 |Positive Return Follower| 2 |S45C(1045) = (572.5)
(® |Stopper Plate 1 |S45C(1045)

; —— o« 49825
(@ |Spring Guide Pin 4 |SCM435 (507.8)
Coil Spring 4 |[TM30x 125 3509
@© | Stopper 4 |Urethane (35.8) [
Cam Bottom Slide Plate| 1 |S45C(1045) PEREZ 03| | e=36 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFRE E 123 | r-bH 2
(2 |Lower Plate 2 |Bronze with Graphite BHE 125
@3 |Plate 2 |S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INMBAHITROFIN, Sy 7>, Ty vidRR

LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

UCNBK
200

818



819

&,

ﬁil)j:ll.\:l._vh E7AR 75V

AERIAL CAM UNIT ) @
[ ~
UCNBK200-50
225+0.05 .
20 200 4-$18-26 B Cam Diagram

32H7 2-$16H7 30

©\ 6 S e, —

S
| ~ E
9
i 7 8 N
C | % 5
C — 2
ol o : Sl o o
2 O S I T R
& 2 N | S qQ <«
E 25| T
C |
92 Y
S I P
s\ A4 ¥’7’$\\7

16 240

80

280

149.7

)
4-418-$26 97| 5a,
6.3

260
230+0.02

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

HITH kN(tonf) | RATU 451 Nkgf) 2S5V EE

BEMTIA | HFEIAh
(1005E) | (3075[E]) HE HIE kg

93.1 186.2 350.9

A I\E_Q Catalog No.| W 7

5614.1

46.7 (9_'5) (19.6) (35_;3) (572_;5) 32.4 UCNBK | 200 50
Q Order ‘Catalog No.H ‘—‘ [} ‘
UCNBK 200 — 50
N P 5 x —{THRFFM & P.737
i'j omon 73ZR” il = £ 2B LA,

K FIVERF-—PHELET,

ADLKRIVEIZA M)y TRERDER
F-PAELET,

Order  UCNBK200 - 50 - K

V7 —FBRE2y TR /v TR (FR.
£ EHF) MIFMAEHRIE P38 ~%22 8
{F2ELN,

Wl Table of Components

KA

WX7Y) 78R (> FRY B5mmEDTEHE)

No. Description |Qty|Material and Remark ofBRZTYULY  TM30-125 (41E)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@ |Cam Driver 1 |FC250 o X7 U THABBER 1007 A
(3 |Cam Holder 1 |[FC250 -
@ |Upper Plate 2 |S45C with Graphite al NAFEMMEVRHEE
® |Positive Return Follower| 2 | S45C(1045) 'E(5567124.'51) &/ FEMMENEATTRIE
(® |Stopper Plate 1 |S45C(1045)

- - " 5052.7
(@ |Spring Guide Pin 4 |SCM435 “ 514.9)
Coil Spring 4 |TM30x 125 350.9
(9 | Stopper 4 |Urethane E"35.8) 1
Cam Bottom Slide Plate| 1 |S45C(1045) wEEs 03| | e=32 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFRE E 123 | NrbH 2
(2 |Lower Plate 2 |Bronze with Graphite BHE 125
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INEHITRDFIL, JyTEL TydvidFRR

LTV A, A

132

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
Z
k

UCNBK
200

820



mUBDLIZ Y E7R-75CH
¢

AERIAL CAM UNIT ) @ i
4 ~ ?
MI/ kN(tonf) | ZTUY T Nikef)| _ _
UCNBK200-55 O—sl_ ) -
; 2500 ANSTY BN HENTS g | mm | ke | CatalogNo.| W | g
L™ 200 4-$18-426 (1005[E]) | (3051E]) =
B 2-416H7 93.1 186.2 350.9 5614.1
\ 1 52.3 o o | 20| ey 319 UCNBK | 200 | 55
Ole| ] ‘
| -, - [catalog No.|[ W |- & |
! ® Order -
E | ° . ‘0 UCNBK 200 — 55
Jd 4 18 |l ~ & B . FIvay [ % — A% P.737
5 2 E {_Tté RE~ L'j Odtin 3 & Gl ETECEE,
25| ™ w
0 ! K | fLsms—rHBLET.
M 1@ '
SPN BV S—— .5 DLRIVEIZA Ny JHBEOER
< © KA % pHELET.
32H7 6.3
60-00 Qe o UCNBK200- 55K

JFr—FBRRE2y TR Ly IR (TR
HEWIR) MNTEFEMERILE P389 ~%2 28
{2,

W Table of Components WX7Y 2 T8HR (U FREDESmmEENEE)
p
Q No.| Description |Qty/Material and Remark ofEEATULY  TM30-125 (41H)
- (D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAE#ELR 10075
(3 |Cam Holder 1 |FC250 -
: - LINFEMMER YR
I @ |Upper Plate 2 |S45C with Graphite g 5614.1 :: S FEmMMEIS XTSRS
(5 |Positive Return Follower| 2 |S45C(1045) = (572.5)
(® |Stopper Plate 1 |S45C(1045)
g - —— «~ 51053
Si (@ |Spring Guide Pin 4 |SCM435 (520.3)
Coil Spring 4 |[TM30x 125 3509
(9 |Stopper 4 |Urethane (35.8) L]
Cam Bottom Slide Plate] 1 |S45C(1045) GERES 93| | e=29 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFRE E 123 | r-bH 2
(2 |Lower Plate 2 |Bronze with Graphite BHE 125
55005 B Cam Diagram @3 |Plate 2 |S45C(1045)
6.3, - (9 | Driver Plate 2 |Bronze with Graphite
] @ |Screw Plug 2 |S45C M12 WEHFREAN—Z
© INEHITRADEIL, Sy T8 Ty rldFRR
5 !
N S j & LTWEEA,
g
3 3
al N
\2-#16H7
4-$18-426
UCNBK
200
- /
821 822

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



823

HHUJA:I._VF E7R-75VSH

AERIAL CAM UNIT )
/
UCNBK200-60
225+0.05

20 200 4-418-$26

a 32Hr 2-$16H7

% T i BMCam Diagram

el <
””” ) 30

| T .

g
S
°sg 4L 1+ | L3l gl 8 I
SV 8(\1(\1 % (g
-~
{l25]

Nk

A
L
E
E
_ I kN(tonf) | ZTUSF N(kgf)| - — -
AT I BB g | s | | CatalogNo.| W | o
(10055E)) | (30751E)) =
93.1 186.2 350.9 5614.1
60.0 ©5) 100) | (@58 | Gv25) 335 UCNBK | 200 | 60
MQ Order | catalog No. || - 6 |
UCNBK 200 — 60
N P 793 ] .ﬂe — I P.737
k" Option —R T ZEBELEEN,

K FIVERF-—PHELET,

KA ADLKRIVEIZA M)y TRERDER
F-PAELET,

Order  UCNBK200 - 60 - K

Ur—FWRAL2y TR /v TR (TR
fEEFR) INTEFMEERE P.389 ~2Z 8
{FEEL,
Wl Table of Components
Description |Qty/Material and Remark

BX7Y) 78R (> FRY B5SmmEEDTHE)

4-$18-426 3 55;_05
6.3

2-$16H7

260
230=+0.02

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

ofFEAXT)Y  TM30-125 (418)

No.
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAE#ELR 10075
(3 |Cam Holder 1 |[FC250 . —
@ |Upper Plate 2 |S45C with Graphite a NOFEMMEVRSEE
(5 |Positive Return Follower| 2 |S45C(1045) HEE (55671;51) e /LTI MMENBATTRIE
(® |Stopper Plate 1 |S45C(1045)

- - " 5175.5
(@ |Spring Guide Pin 4 |SCM435 % (5275)
Coil Spring 4 |TM30x 125 350.9
(9 |Stopper 4 |Urethane E"(35.8) L1
Cam Bottom Slide Plate| 1 |S45C(1045) pEREE 9| | 025 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR E 123 DA 2
(2 |Lower Plate 2 |Bronze with Graphite BHE 125
@ |Plate 2 [S45C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INEHITRDFIL, JyTEL TydvidFRR

LTWEEA,

= —5 (-}
132 =
UCNBK
200
824

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



825

HHUJA:I._VF E7R-75VSH

AERIAL CAM UNIT )

/
UCNBK200-65

225+0.05

4-$18-926
2-$16H7

«
©

|

10

210
150
[
180;002
230
260
15_ 45 .
i
e

Q B Cam Diagram
20
70 2-$16H7 30

55+0.05
6.3,

®
3 .
&
8
=
+
ol O
™| ©
4 | ANl N
4-$18-926

_ IITH kN(tonf) |2 TUV5FN(kaf)| _ _
AT I BB g | s | | CatalogNo.| W | o
(10075[5]) | (3073[E]) "=
93.1 186.2 350.9 5614.1
70.9 ©5) 100) | (@58 | Gv25) 31.9 UCNBK | 200 | 65
MQ Order | catalog No. || - 6 |
UCNBK 200 — 65
N P 793 ] .ﬂe — I P.737
k" Option —R e ﬁ e BEELN,

K FIVERF-—PHELET,

KA ADLKRIVEIZA M)y TRERDER
F-PAELET,

Order  UCNBK200 - 65 - K

V7 —FBRE2y TR /v TR (FR.
£ EHF) MIFMAEHRIE P38 ~%22 8
{F2ELN,

Wl Table of Components

BX7Y) 78R (> FRY B5SmmEEDTHE)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

No.| Description |Qty/Material and Remark ofEEATULY  TM30-125 (41H)
(D |Cam Slider 1 |FC250 with Graphite o [ERTEE 43.86N/mm (4.47kgf/mm)
@|cam Driver 1 [FC250 *ATVLIMAE#ELR 10075
(3 |Cam Holder 1 |FC250 . S——
@ |Upper Plate 2 |S45C with Graphite . 5614.1 : fé;gmgjgzij’uw&u;
(5 |Positive Return Follower| 2 |S45C(1045) (572.5)
(® |Stopper Plate 1 [S45C(1045) 52457
(@ |Spring Guide Pin 4 |SCM435 * ~(534.6)
Coil Spring 4 |TM30x 125 3809
(9 |Stopper 4 |Urethane (35.8) L]
Cam Bottom Slide Plate| 1 |S45C(1045) wEEs 03| | e21 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFRE E 123 | r-bH 2
(2 |Lower Plate 2 |Bronze with Graphite BHE 125
@3 |Plate 2 [845C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INMHITRDKIV, JvTES TydviddR
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

826



HHUJA:I._VF E7R-75VSH

AERIAL CAM UNIT )
/
UCNBK200-70 22510.05
20 200 4-$18-$26
3 32H7 2-416H7 lCam Diagram

e

210
150
M i Ay
[
|
\
5
S )
180+0.02
230
260

60-0.05 6.3

\

280

4-$18-$26
6.3,

260
230=+0.02

827
Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUSF N(kgf)| - — -
AT I BB g | s | | CatalogNo.| W | o
(10055E)) | (30751E)) =
93.1 186.2 1096.6 5483.0
58.5 ©5) 8o | (1118 | G59.1) 30.2 UCNBK | 200 | 70
MQ Order [catalog No.|[ W |—[ 6 |
UCNBK 200 — 70
N P 79 eV = ﬂe A I P.737
k" Option —R T ZEBELEEN,

K FIVERF-—PHELET,

ADLKRIVEIZA M)y TRERDER
F-PAELET,

Order  UCNBK200 - 70 - K

V7 —FBRE2y TR /v TR (FR.
£ EHF) MIFMAEHRIE P38 ~%22 8
{F2ELN,

Wl Table of Components

KA

WX7Y) 78R (> FRY B5SmmEEDTHE)

No.| Description |Qty/Material and Remark ofBEATYLY  TM30-100 (41H)
(D |Cam Slider 1 |FC250 with Graphite o ERTEE 54.83N/mm (5.59kgf/mm)
(2 |Cam Driver 1 |FC250 o X7 U THABBER 1007 [E
(3 |Cam Holder 1 |[FC250 ; S
@ |Upper Plate 2 |S45C with Graphite ai /NCFESMMEVREE
(5 |Positive Return Follower| 2 |S45C(1045) HEE (55458931(; o T SMMERIEAT T RIE
(® |Stopper Plate 1 |S45C(1045)

5110.2
@ |Spring Guide Pin 4 |SCM435 % 521.0)
Coil Spring 4 |TM30x 100 1096.6
(9 |Stopper 4 |Urethane *DEU” 8) L1
Cam Bottom Slide Plate| 1 |S45C(1045) QEBEX 75| | e=17 ‘
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite PERFREE 95 H-hH 5
(2 |Lower Plate 2 |Bronze with Graphite BHE 100
@ |Plate 2 [845C(1045)
(9 | Driver Plate 2 |Bronze with Graphite
@ |Screw Plug 2 |S45C M12 WEHFREAN—Z
INMEHSITRDFIN, Jv7ES TyoviddR AL

LTV A,
= )
142

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

7
L
=
3
k

UCNBK
200

828



